Air Cylinder

Series CG1

020, 925, 932, 040, 950, 863, 080, 6100

Variations CJ1
Series Action Rod Cushion| | goqi Variation Bi[ﬁ,ﬁi)ze Page [ —
aSIC | (Wit One-touch] | With rod Air- Clean
fiting boot hydro series | |Copper free CJP
| L
; Rubber ‘ ‘ ‘
Standard/Series CG1 Single rod o H 172 CJ2
- Double Air | ——
. , to
L - acting Rubbor] ® 100 CM2
LY Double rod —1.7-14 ——
Air | C85
Standard/Series CG1 C76
4 . Single rod 20
‘ - acting (Spring retur/ Rubber @ to  1.7-20
. Spring extend) 40
i MB
MB1
Non-rotating rod Series CG1K Rubber | 00 63} 7CP95
y Double Single rod 1.7-26
d fing Air [ ‘40 to GSF K
A ac
s I — ==
B Double rod‘ lRubber[ 20to 63 092
Direct mount Seri 1R
ect mount Series CG Rubber ® ® ® o CA1
- Double .
- o acting Single rod to 1.7-35 CS'I
g Air @ @ 6
Direct mount/Non-rotating rod
Series CG1KR ; Double | 20
- . acting Single rod Rubber ——@ to [1.7-40
Py 63
Low friction Series CG10Q
No cushion 20
Double , (220 10 063)
< acting Single rod Rubber ® to  [=1.7-43
s ' (80, @100) 100
Ll 'Qim
Applicable auto switch Made to Order
Auto switch model Band mounting
Reed D-C7/8, D-C73C/C80C Refer to p.5.4-1
switch D-B5/B6, D-B59W for made to order
Solid state D-H70J, D-H700W, D-H7CF products of series CG1
. D-H7BAL, D-H7C, D-G5/K5
switch D-G500W/K59W, D-G59F, D-G5SNTL

1-7-1



Series CG1

Water Resistant

C_DG1 ’Mounting‘ ’Bore size‘ m Stroke = G5BAL |-XC6

With auto switch
(built-in magnet) Solid state switch
(Water resistant/

2 color indicator)

Water resistant

R _[Seal: NBR (Nitrile rubber)
V_ [ Seal: FKM (Fluorine rubber)

Ideal for use in a machine tool environment exposed to coolant mist. Also
suited for use in areas in which water splashes, such as food processing
equipment or car washers.

Specifications

Action

Double acting/Single rod
232, 940, 50, 263, 80, 100
Rubber bumper/Air cushion

Bore size (mm)

Cushion

Auto switch mounting method Band mounting

Made to order Material of the piston rod and rod end nut is stainless steel. (-XC6)

* Other specifications are the same as the standard model.

Dimensions

Rubber bumper
GA 0
<
oo
| iN)
I17 L
e e - ;
=
(F1) || TA
S + stroke F
Z7 + stroke
Air cushion ya
GA o
& 0
il
o _ 7
2 S=N
(F1) || TA
S + stroke F
ZZ + stroke
(mm)
Bore (mm) | (E1) | E* | (F1) | F* | GA S TA | WA 2z
32 17 | 18 2 2 18 77 (85) 17 | 20 |119 (127)
40 21 | 25 2 2 19 84 (93) 18 | 21 |136(145)
50 26 | 30 2 2 21 97 (109) | 20 | 23 |157(169)
63 26 | 32 2 2 21 97 (109) | 20 | 23 |[157 (169)
80 32 | 40 3 3 28 | 116(130) | — | 30 |190 (204)
100 37 | 50 3 3 29 | 117(131) | — | 31 |191 (205)

* These dimensions and other dimensions not indicated here are the same as standard.
Note) ( ): Long stroke

1-7-6

O

Made to order

/\ Precautions

Ll |

| Be sure to read before handling. :
1 Refer to p.0-39 to 0-46 for Safety Instructions
1 and common precautions. 1

U U g |

] Precautions on handling

A Warning

(D Do not operate the cushion valve in the fully closed or fully
opened state.

® Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

(2 Operate within the specified cylinder speed.

@ Failure to do so will damage the cylinder and the seals.

/A Caution

(D Do not use the air cylinder as an air-hydro cylinder. This
will cause an oil leak.

(@ Install without twisting the bellows.

@ [f the cylinder is installed with its bellows twisted, it could
damage the bellows.

] Disassembly/Replacement

/\ Caution

(D Do not replace the bushings or the cushion seals.

® The bushings and the cushion seals are press-fit. To replace
them, they must be replaced together with the cover assembly.

(2 To replace a seal, apply grease to the new seal before
installing it.

@ [f the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

(3 Do not replace One-touch fittings.

® Because pipe fittings are press-fit, they must be replaced
together with the cover assembly.

@ Those with a bore of 850 or more cannot be disassembled.
® When disassembling a cylinder with a bore of 620 to g 40, use
a vise or the like to hold the wrench flats portion of the tube
cover or the rod cover on one side, while placing a wrench or
an adjustable wrench on the other side to loosen and remove

the cover. To replace, tighten it an additional 2... from the
installed position. (Those with a bore of @50 or more cannot be
disassembled because they have been tightened with greater
torque. If they must be disassembled, contact SMC.




Series CG1

With Mounting Bracket

Clevis/CG1DN Clevis (mm)
220 to 063 (Er’]:’r:% S"‘(’:‘ﬁr:f)”ge B |cb|cx|cz| L |RR| Vv |TE|TF|TH
oCD External
Rt et L TR_R_ o 20 [Upto2oo| 38 [ 8 | — |29 [14 |11 [ — [ 105525
| niema 25 |Upto300/455| 10 | — | 33 | 16 | 13 | — | 10 | 55 | 30
5 32 |Upto3oo| 54 |12 | — |40 | 20| 15| — | 10|66 35
jIF ,=§g=§£= 3 40 |Upto500[635| 14 | — | 49 [ 22 | 18 | — | 10 | 6.6 | 40
S ! 50 |Upto6oo] 79 | 16 | — [ 60 |25 | 20| — [ 20| 9 | 50
= ] 63 |Upto600| 96 | 18 | — | 74 |30 | 22 | — [ 20 | 11 | 60
;TY‘i 80 |Upto750/99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
| rEt010 7+ Stroke TW 100 |Upto750[120| 22 | 32 | 64 | 43 | 22 | 32 | — [135] 65
=0 22+ Stroke B With rod boot | Applicabl
(n;’rrr‘f) TV |TW| X [TY | T2 | Z | ZZ e
(The above shows the case port location is changed by 90° degrees.) z ZZ |pinp .
20 32 [358| 42 | 16 | 28 [43.4] 118|139 | 138+ | 159+ | CD-G02
25 3.2 [39.8| 42 | 20 | 28 | 48 | 125|146 | 147+ | 168+ | CD-G25
280, o100 32 45 (49.4| 48 | 22 | 28 |59.4| 131|155 | 153+ | 177+ | CD-G03
L RR 198+¢
—yT LoOEKemal 40 |4.5(58.4| 56 | 30 | 30 |71.4 (11?5?) (11;% (:;g:j) song| CD-GO4
T M /Internal d9 173 205 | 193 (22;‘)
I / 7 5 | 193+¢ | 225+
5 ) 50 6 724/ 64 | 36 | 36 | 86 | o0 | 517 |iogseg - CD-G05
1
\ 178|215 | 198+ | 235+
= 4| 74 | 46 | 46 | 1054 D-
% ; 5[ 63 8 |90 6 | 46 | 1054 00| 1297) | 2104 24 CD-G06
214 | 2725 | 203+ | 2815¢
80 11{110] 72 | 85 | 45 | 64 | ool e |y 554 IY-GO8
2o 222 | 2985 | 231+ | 30754
ZZ + Stroke - i + d y
100 | 12 /130 93 (100 | 60 | 72 | ioct || gy @154 IY-G10
Note 1) ( ): Long stroke
+ Clevis pins and snap rings are attached for the clevis style. Note 2) Refer to p.1.7-11 for pivot bracket.
Basic/With Air Cushion: CG1BA
MM WA 2-P WB
Width across H1 _G_A, GB
flats B1 -
=
o
. s g u
) _ VT ~ T
Wi - I Y
wle X U
sy
AL
A K
FIITA| \4TC TB|| F
H S + Stroke
e ZZ+Stroke
. With rod boot mm
With rod boot ore {(mm)
flh|W[H[IW| ¢]| zz
_ TRRE J | JH |J
L ) 20 30 | 16 | 55 | 27 |(145)|(115) 126 (134)
3 8 T }Gé 25 30 | 17 | 62 | 32 |(175)|(115) 133 (141)
D — O 32 35| 17 | 62 | 38 |(195)|(115)| & [135 (143)
- 40 35 | 17 | 70 | 48 |(225)] (13) % 150 (159)
50 40|17 | 78| 59 |(25)|(13)| 10 170 (182)
8l ¢ |1 63 40 | 18] 78| 72 [(25)|(13)] S [170(182)
hate 80 52|10/80 |59 | — | — 191 (205)
27 + ¢+ Stroke 100 |62] 7 [80|71|—|— 191 (205)

* The minimum stroke for rod boot equipped type is 20mm.

?nf;‘; S‘fgﬁ;;d(fgﬁ;‘e rL;’[?gesm AlAL|Bi|C|D|E|F|GAl GB |[H|Hi I J K|lka| MM |NA| P s [TA| TB | TC* | zz |wa|wB|wH|ws
20  |Upto200| 2010360 |18]165]13[14] 8 [12] 2 [12[10 (12 35| 5 | 26| meDeph7 | 56| M8 |24] M5 |9 7711] 11 | M5 | (g |16 50623 [30°
25 |Upto300] a0ito400 [22[195[17[165[10[14] 2 [12[10 (12)[ 40 6 [31] WeDeptr75 [55] 8 [M10X1.25[29] M5 |69 (77)[11] 11 [M6 X 0.75 11119 [16 (18] 25 [30°
32 |Upto300] 30iteas0 |22]195[17[20[12]18] 2 [12[10 (12){ 40| 6 [ 38| M5Depths |55]10 |M10 X 1.25[355] Re(PT)1/8 [71 (79) 11 | 10 (1) | M8 X 1.0 | 1132 |16 s 16285 [ 25°
40 |Upto300] 301to800 [30]27[19]26[16]25] 2 [13[10(13) 50| 8 [47| W6 Deptn 12 | 6 |14 |M14 X 1.5[44| Re(PT)1/8 [78 (87) 12| 10 (12) [M10 X 1.25] 130139) [ 16 [ 18] 33 [ 20°
50  |Up to300|301t01200| 35|32 27[32[ 2030 2 [14]12 (14)[ 58 [ 11] 58| M8 Deptn 16 | 7 |18 |M18 X 1.5]55 | Re(PT)1/4 90 (102 13| 12 (13) [M12 X 1.25] 150182 | 18 [ (18405 | 20°
63 |Up to300|301101200| 35|32 27[38[20 32| 2 [14[12 (14)[ 58 [ 11| 72| M10 Deptn 16 | 7 |18 |M18 X 1.5]69 | Re(PT)1/4 90 (102) 13| 12 (13) [M14 X 1.5 150162 [ 18 [ (18fa7.5 [ 20°
80  |Upto300[301to1400] 40|37 [32[50( 25 40| 3 |20]16 20) 71 [ 13] 89| m10 Deptn 22 [ 10] 22 |m22 X 1.5 80| Re(PT)3i8 [108 (20| —| — | — [ [22]22 60| 20°
100 |Up to 300/ 301to1500] 403741 ]60[30[50] 3 [20[16 (20)[ 71 [16] 110 12 Deptn 22 [ 10] 26 [M26 X 1.5[100] Re(PT)1/2 [108 (122 —| — | — | [22[22]71 [20°

Note 1) ( ): Long stroke
Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 880 and 100.
Note 3) Refer to p.1.7-11 for mounting brackets.

1-7-10

O

SVC



